UNDERSTANDING FINANCIAL STATEMENTS:  PROBLEM  SET  
(copyright © 2018 Joseph W. Trefzger)
This problem set covers a range of financial statement issues, with a general increase in degree of difficulty as we progress.  Be sure that you have mastered the easier problems before moving ahead, because the more difficult examples tend to expand on the ideas presented in the easier ones.     
Very Basic/Review
1.  Ms. Braden thinks she can better understand her financial situation by completing a personal balance sheet.  She owns a house worth $160,000 (she originally paid $154,000 for it), but still owes a mortgage company $120,000 of the money she borrowed toward paying for the house.  She has a car worth $12,000 (originally paid $15,000), but still owes the car manufacturer’s financing division $9,000 that she borrowed toward the purchase.  She has a $3,300 balance in her ISU Credit Union savings account; $2,750 in her First State Bank of Normal checking account; and 
a $4,000 balance in her Roth IRA account at Redbird Mutual Funds (she has invested a total of $4,300, but some bonds the fund managers bought have recently gone down in value).  She also owes $1,100 on a MasterCard credit card, $730 on a Visa credit card, and $420 on a Target Stores charge card.  She recently filed her state and federal income tax returns for the previous year, and is expecting to get refunds totaling $515 in the next several weeks.  At the same time, she owes $2,500 in property tax, based on her home’s value, to her local government (always billed and paid in Illinois several months after local public services have been provided).  If these items constitute her major personal assets and liabilities, what should her personal balance sheet look like? 
2.  The Managers of Bone Bottle Brushes, Inc. think they can better understand their firm’s financial situation 
by completing a balance sheet.  The company originally paid $16,930,000 for the building and manufacturing machinery it owns.  (Even though it could all be sold today for $17,500,000, it is treated for “book” purposes 
as having lost $3,010,000 of its value through being used.)  In addition, Bone holds a $415,000 inventory of 
handles and bristles to put into the machines.  The company owes long term lenders $7,970,000, and it has built 
up obligations to pay taxes totaling $691,000 to various levels of government over the next few months.  It has 
a $1,245,000 balance in its corporate checking account, and holds interest-earning marketable securities worth $2,190,000.  The common stockholders who own Bone have directly given the managers $6,750,000 to support the company’s activities, and the managers have also kept $2,418,000 in earnings (which belong to the owners) over the years to buy additional assets.  Bone owes $875,000 to other firms from which it has purchased goods and services, while other firms owe $1,962,000 for brushes purchased from Bone.  $600,000 is owed to a local bank; and $428,000 is owed to employees for work they have done since the most recent pay date.  If these items constitute Bone’s major assets and claims, what should the company’s balance sheet look like? 

Average Level
3.  What total stockholders’ equity value should appear on Cook Cartography Corporation’s most recent balance sheet if the total asset figure shown is $13,650,000 and the amount shown as owed to lenders is $8,250,000?  Where would the stockholders stand if the company were liquidated (all assets are sold, company goes out of business) and the assets could be sold for only $7,900,000?
4.  The current asset total on DeGarmo Daycare, Inc.’s most recent year’s balance sheet was $2,420,000; the prior year’s current asset total was $2,190,000.  The most recent year’s and previous year’s current liability totals were $1,876,000 and $1,430,000, respectively.  What was the change in net working capital during the most recent year? 
5.  The most recent balance sheet computed for Edwards Engineering Enterprises shows $4,750,000 in current assets; $3,535,000 in current liabilities; $6,400,000 in long term debt; and $9,225,000 in net fixed assets.  Why do we know that the missing account total that causes the balance sheet to “balance” has to be stockholders’ equity?  How much is this stockholders’ equity total?  What is the value of Edwards’s net working capital? 
6.  On June 30 of the most recent year, Fairchild Furnace and Flue, Inc. had $2,928,000 in accounts receivable; $3,750,000 in notes payable; $2,102,000 in accounts payable; $6,224,000 in inventory; $5,640,000 in long term debt; $3,351,000 in cash and marketable securities; $1,285,000 in intellectual property (manufacturing patents); 
and $10,330,000 in tangible net fixed assets.  Since Fairchild’s founding, the managers have also retained a total 
of $8,490,000 in earnings (which otherwise could have been given to the owners as dividends) to pay for assets.  Prepare a balance sheet for Fairchild as of the end of its most recent fiscal year.   

7.  The current liabilities total shown on the most recent balance sheet for Fell Flax Farms is $1,360,000.  The net fixed asset value shows as $7,800,000, while long-term debt is $4,000,000 and total stockholders’ equity (or net worth) is $6,250,000.  If net working capital, other than cash, is $920,000, what is Fell’s cash balance?  What is the current asset total?
8.  During the most recent year Felmley Fence Corporation paid $963,000 in interest to parties that had lent it money.  It also paid income tax at a 24% average combined state-plus-federal rate.  Ownership in Felmley was represented by 210,000 outstanding shares of common stock.  The company sold $7,625,000 worth of goods to 

its customers during the year, but also wrote checks for $3,340,000 to pay for labor, materials, and other costs of producing and distributing the goods sold.  In addition, Felmley recognized a $2,395,000 loss in the value of its long-lived buildings and equipment (depreciation).  Compute the year’s net income.  If $392,000 in cash dividends was paid to Felmley’s common stockholders, how much net income was retained for the company’s internal use?  What were the earnings per share (EPS) and dividends per share (DPS) figures?      

9.  Horton Holographic Corporation’s total sales revenue was $215,000,000 in the most recent year.  The company paid $17,250,000 in interest during the year and incurred $133,000,000 in cash-based costs of producing and distributing its goods.  It paid income tax at a 27% average (state plus federal combined) rate, and paid $4,500,000 in dividends to its common stockholders after retaining $5,537,500 in earnings to finance the purchase of additional assets.  What depreciation expense figure should have been shown on the company’s income statement for the year? 

10.  Managers at Hovey Hovercraft, Ltd. are making some financial projections.  In the coming year they expect net income to be 6% of the $105 million in sales.  If the accumulated retained earnings total shown on the balance sheet for the year just ended was $18 million, and if Hovey continues with its historical practice of paying 45% of each year’s net income to the company’s common stockholders as cash dividends, what accumulated retained earnings total should we expect to see on the balance sheet that will be completed at the end of the current year?   

11.  Accountants at Julian Jewelers just completed a balance sheet that shows $975,000 in net fixed assets.  The net fixed asset total on the balance sheet they completed a year ago was $932,000.  If the company claimed $78,000 in depreciation expense on its income statement for the most recent year, how much did it spend on new fixed assets, or capital equipment, during the most recent year?     

12.  McCormick Maintenance Services’ assets consist of floor buffing machines (fixed assets), cleaning supplies (inventory), money the company is owed by customers (accounts receivable), and a checking account (cash).  Earlier this week a used equipment dealer offered to pay $160,000 for the floor buffing machines, which McCormick bought three years ago for $327,000 and against which $200,000 in total depreciation has been claimed.  The company’s most recent balance sheet shows $58,000 in current liabilities, and the book value of net working capital is $23,000.  McCormick would receive $84,000 if it were to liquidate all of its current assets today.  Compute the book value and market value of McCormick’s assets.   

13.  The most recent year’s income statement for Milner Millworks, Inc. showed $497,000 in total sales revenue; $262,000 in cash-based cost of goods sold; $82,500 in depreciation expense; and $68,250 in interest paid.  The company’s average income tax rate was 26% (state plus federal combined).  Compute Milner’s net income and operating cash flow for the year.  

14.  What types of transactions involving other balance sheet accounts would cause the cash figure shown on Moulton Molding & Manufacturing, Inc.’s balance sheet to increase?  To decrease?  To remain unchanged?  

15.  Ropp Refinishing Company held $1,120,000 in cash at the beginning of the most recent year.  Actions relating to cash payments or receipts during the year were as shown below.  Complete a statement of cash flows that shows Cash Flow from Operating Activities, Cash Flow from Investment Activities, and Cash Flow from Financing Activities.  Why do analysts find it helpful to classify cash flows into these three major categories?  (Accounting rules allow for some different approaches to a statement of cash flows; we will use the “indirect method” procedures discussed in class.)   
Dividends of $3,935,000 were paid to common stockholders

Inventory increased by $1,800,000

A parcel of unneeded land was sold for $845,000 

The company borrowed $680,000 in new short term money from its local bank

The company earned net income of $5,750,000

Accrued wages decreased by $230,000

Accounts receivable increased by $360,000

New machinery was purchased in the amount of $4,150,000

Accounts payable increased by $400,000   

The company borrowed $4,825,000 in new long term money from bondholders

Depreciation expense claimed on long-lived assets was $1,375,000

16.  Prior to 2018 U.S. corporate income was taxed according to the following partial graduated rate schedule. 




       Taxable Income
     Income Tax Rate 




         Up to $50,000

15%




   $  50,001 – $  75,000

25%




   $  75,001 – $100,000

34%




   $100,001 – $335,000

39%

(Higher income amounts were taxed at rates in the 35 – 39% range.)  If Schroeder Shredders, Inc. had taxable income of $289,000 for the year 2017, how much in income tax should it have paid?  If it paid that amount of tax, what average and marginal income tax rates did the company pay?  

17.  During the most recent year, Stevenson Steak Houses, Inc. paid $14,000,000 in interest to parties that have lent the company money.  If Stevenson paid income tax at a 23% average (state plus federal combined) rate, what income tax shield was provided by the interest payments?

Advanced Level
18.  The most recent year’s income statement for Watterson Wetsuit Company was as follows (in thousands of dollars):
Sales




$5,750

Minus Cash-based Cost of Goods Sold
$4,200
Minus Depreciation


$   810
Operating Income (EBIT)


$   740

Minus Interest Expense


$   120
Earnings Before Taxes (EBT)

$   620

Minus Income Taxes (35%)

$   217
Net Income



$   403
Watterson’s balance sheets for the two most recent years showed (in thousands of dollars):







       Most Recent Year
         Previous Year
Cash and Marketable Securities


$  2,800


$  2,170




Accounts Receivable



$  1,150


$  1,190
Inventory





$  1,750


$  1,830
Gross Fixed Assets


         $11,250

          $10,190
Minus Accumulated Depreciation
        ($ 1,900)

         ($ 1,090)
Net Fixed Assets




$  9,350


$  9,100


Total Assets


            
$15,050


$14,290
Accrued Wages and Taxes



$     700


$     930

Accounts Payable




$  2,340


$  1,790
Notes Payable




$  1,400


$  1,460
Long Term Debt




$  2,200


$  2,010
Paid-In Capital




$  5,000


$  5,000
Retained Earnings




$  3,410


$  3,100


Total Claims



$15,050


$14,290
Complete a statement of cash flows for the most recent year.  Also compute Watterson’s Net Operating Profit After Taxes (NOPAT), Operating Cash Flow (OCF), and Free Cash Flow (FCF).  
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